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Problem 1

In the following circuit, if ݒ ൌ 10݁ିଶ௧ V and ݅ ൌ 0.4݁ିଶ௧ A,t>0
(a) Find R and C.
(b) Determine the time constant.
(c) Calculate the initial energy in the capacitor.
(d) Obtain the time it takes to dissipate 50 percent of the initial 

energy.
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Problem 2

The switch in following circuit opens at t=0. Find v0 for t>0.
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(V0(0.1)=1.848V)
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Problem 3

In the following circuit, find iL and i0 for t>0.
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(iL(0.1)=0.425A)

Problem 4

In the following circuit, find i(t) for t >0 if i(0)=2A.
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Problem 5

Find i(t) and v(t) for t>0 in the following circuit if i(0)=20A.
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(i(1)=0.604A)

Problem 6

Calculate the capacitor voltage for t<0 and t>0 in the following 
circuit
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(V(1)=5.078V)
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Problem 7

Consider the following circuit. Find ݅ሺݐሻ for t<0 and t>0.
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(݅ሺ1ሻ ൌ0.497A)


